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SECTION A : LISTENING 
HƯỚNG DẪN PHẦN THI NGHE HIỂU

Bài nghe gồm 2 phần, mỗi phần được nghe 2 lần, mỗi lần cách nhau khoảng 10 giây, mở đầu và kết thúc mỗi phần nghe có tín hiệu. 

Thí sinh có 2 phút để hoàn chỉnh bài..

Part 1: You will hear a radio discussion about writing a novel. For questions 1-5, choose the answer (A, B, C or D) which fits best according to what you hear. (5pts)

Question 1. What does Louise say about Ernest Hemingway’s advice to writers?

A. It is useful to a certain extent.

B. It applies only to inexperienced novelists.

C. It wasn’t intended to be taken seriously.

D. It might confuse some inexperienced novelists.

Question 2. Louise says that you need to get feedback when you 

A. have not been able to write anything for some time.

B. are having difficulty organizing your ideas.

C. are having contrasting feelings about what you have written.

D. have finished the book but not shown it to anyone.

Question 3. What does Louise regard as useful feedback?

A. a combination of general observations and detailed comments 

B. both identification of problems and suggested solutions 

C. comments focusing more on style than on content 

D. as many points about strengths as weaknesses

Question 4. What does Louise say about the people she gets feedback from?

A. Some of them are more successful than her.

B. She doesn't only discuss writing with them.

C. She also gives them feedback on their work.

D. It isn’t always easy for her to get together with them.

Question 5. One reaction to feedback that Louise mentions is that

A. it is justified but would require too much effort to act on.

B. it focuses on unimportant details rather than key issues.

C. it has been influenced by reading other people’s novels.

             D. it is not suggesting that major changes to the novel are required

Part II: You will hear a university lecturer talk to his students. Listen and circle the appropriate letter. 

(5pts)
Question 6. The speaker says students can visit her _______.

A. every morning. 



B. some mornings. 

C. mornings only. 



D. Friday morning. 

Question 7. According to the speaker, a tutorial _______________.

A. is a type of lecture. 


B. is less important than a lecture. 

C. provides a chance to share views. 

D. provides an alternative to groupwork. 

Question 8. When writing essays, the speaker advises the students to _________.

A. research their work well. 


B. name the books they have read. 

C. share work with their friends. 

D. avoid using other writers’ ideas. 

Question 9. The speaker thinks that plagiarism is ________.

A. a common problem. 


B. an acceptable risk. 

C. a minor concern. 



D. a serious offence. 

Question 10. The speaker’s aims are to _________.

A. introduce students to university expectations. 

B. introduce students to the members of staff. 

C. warn students about the difficulties of studying. 

D. guide students round the university

SECTION B : PHONETICS 
I, Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions. (3pts)
Question 11.  A. commercial             B. celestial                  C. presidential            
D. essential
Question 12.  A. message

B. privilege

C. college


D. collage
Question 13.  A. admiral
            B. adventure
        
C. advocate
             
D. advent

II, Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions. (2pts)
Question 14: A. admirable             B. advisable         
C. reliable               

D. desirable
Question 15: 
A. dental
      B. rental
      C. sandals
        
D. canal

SECTION C  : VOCABULARY AND GRAMMAR

I,  Choose the word/phrase that best completes each of the following sentences. (21pts)
Question 16 . ‘Which of these two men is Japanese?’
‘_________ is.’

A. Both of them

B. All of them                C. Neither of them             D. None of them

Question 17. I have never seen _________ before.

A. such good film

B. so good film              C. so good a film

D. such good a film

Question 18 . Since they aren’t answering the phone, they _________ .

A. need have left

B. can’t have left            C. must have left
            D. should have left

Question 19.  Nebraska has floods in some years, ______.

A. in others drought
                    B. droughts are others

C. while other droughts
        D. others in drought

Question 20.  How did they manage to keep me completely ______ about this for so long?

A. in the dark
           

B. under the shadow
   C. in the shade
          
D. out of shape

Question 21. The secretary dashed ___________ the weekly report to his director

A. up 
                        
B. off                             C. of
                               
D. for

Question 22 . I __________ an important deal yesterday and she was so thrilled!

A. came across

B. mucked up                  C. shot down

D. gunned for

Question 23. Sending out e-mails that people haven’t asked for to ______addresses is often known.

A. sufficient


B. countless

    C. widespread

D. multiple

Question 24. We all have to follow the rules, and none of us is ________ the law.

A. beyond


B. over


   C. above

           D. onto

Question 25. As soon as the bomb was discovered by one of the cleaning staff, the police had the area ___________ off and no-one was allowed within two blocks of the cafe.
A. fenced


B. cordoned

   C. walled

           D. isolated
Question 26 . Those were the ethnic ___________  we put people in then.

A. dogholes
              
B. pigeonholes
     
C. boltholes
           

D. foxholes

Question 27.  I slept badly last night and am feeling particularly  ___________ this morning.


A. slow-witted
               
B. far-reaching
     C. off-hand
                         D. top-heavy

Question 28 . Searching for one man in this city is like looking for a _________.

A. salt of the earth

                        B. sand in the desert


C. needle in a haystack
                        D. drop in the ocean

Question 29.  I’d love to live in these ______ surroundings.
A. desolate
            B. bashful
            C. gloomy
                     D. serene

Question 30 . Mark Stringly is rarely interviewed as he hates being in the ______.

A. flashlight

B. limelight

C. headlight

        D. floodlight

Question 31 . I tried to push my way through the standing passengers to get to the door and, failing to keep my __________ about me.

A. head

B. soul


C. wits


      D. mind

Question 32. We need a more _______ assessment of the chances of ending this war.

A. moral

B. sober

C. plain

      D. vivid

Question 33. The vagrant came out of the shop, ___________ for about 10 paces before falling against a car. 

A. stammered 

B. tripped 

C. staggered 

      D. skidded

Question 34 . Thick fog across much of the UK has resulted in dozens of flights _______ and many more delayed.

A. being cancelled
B. to be cancelled
C. are cancelled
        D. cancelled

Question 35.  He claimed _____ from military service as he was a foreign national.

A. demobilization
B. exception

C. exemption

      D. liability 

Question 36.  Ben’s so unlucky in love. Why does he ______  the type of woman who brings trouble? 

A. catch on

B. fall for

C. put before

      D. set out 

II, Mark the letter A, B, C or D on your answer sheet to indicate the most suitable respond to complete each of the following exchanges. (2pts)
Question 37 . Alex is talking to his teammate, Tim, about aquatic sports.

     Alex: “Do you think windsurfing is a dangerous sport?” 
     Tim: “__________________”

A. You can say that again but it’s still true.
B. No, I don’t think so. It’s perfectly safe.

C. You’re right. There’s no doubt about it.
D. I see what you mean but that’s a good idea.

Question 38 . Jack accidentally spilt coffee over Jenny’s dress in a buffet.

Jack: “Forgive me. I’m terribly sorry about the dress.”

Janny: “ 
”

A. I see what you mean.
               B. That’s quite all right.

C. You’re welcome.
                           D. Don’t mention it.

III , Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction in each of the following questions. (3pts)
Question 39 . Televisions are now an every day feature of most households in the United States, and television viewing is the number one leisure activity.

A. leisure activity                                         B. television viewing                    

C. most households
                                  D. an every day feature

Question 40  . Sex's education is instituted to help the student understand the process of maturation, to eliminate anxieties   related to development, to learn values, and to prevent disease.

A. Sex’s education                 B. Understand            C. To eliminate anxieties          D.  Related
Question 41.  Excavations in some villages on the east bank  of the Euphrates River have revealed  an ancient community that had been laying   under later  reconstructions of the city of Babylon

A.  On the east bank              B.  Revealed                C.  Had been laying                    D.  Later

IV, Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following questions. (2pts)
Question 42.  Ha Long Bay has attracted millions of visitors who come to enjoy its breathtaking views and experience other activities. 

A. unbreathable
B. heartbreaking 
C. awe-inspiring
D. unforgettable 

Question 43:  In spite of poverty and dreadful conditions, they still manage to keep their self-respect.
A. self-reliant 

B. self-restraint 
C. self-esteem 
D. self-assured 

V, Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the following questions. (2pts)
Question 44 : Her graceful performance of this traditional art form in the evening session was a real source of pleasure.

A. attractive 

B. effortless 

C. inelegant 

D. sophisticated 

Question 45:   I think we should tell Peter that the location of the picnic has been changed. Let’s put him in the picture.

A. explain to him            B. take his photo             C. show him                    D. inform him

SECTION D  – READING .

I, Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word or phrase for each of the blanks . (10pts)
          It only requires the completion of the reconstruction of the human genetic map for a whole host of hereditary diseases to be (46) ______. Originally, it was forecast that the venture would take until the beginning of the 21st century to be accomplished. At present, it is clear that the task can be finished much earlier. Hundreds of scholars have gone to (47) ______ to help (48) ______ the mystery of the human genetic structure with an ardent hope for liberating mankind from disorders such as cancer, cystic fibrosis or arthritis.

The progress in this incredible undertaking is (49 ) ______ by an accurate interpretation of the information (50) ______ in the chromosomes forming the trillions of the cells in the human body. Locating and characterizing every single gene may (51) ______ an implausible assignment, but very considerable
 (52 ) _______ has already been made. What we know by now is that the hereditary code is assembled in DNA, some parts of which may be diseased and (53) ______ to the uncontrollable transmission of the damaged code from parent to their children.

Whereas work at the completion of the human genome may last for a few years more, notions like gene therapy or genetic engineering don’t evoke much surprise any longer. Their potential application has already been examined in the effective struggle against many viruses or in the genetic treatment of blood disorders. The hopes are, then, that hundreds of maladies that humanity is (54) ______ with at present might eventually cause to exist in the not too (55) ______ future.

Question 46. A. terminated           B. interfered
        C. eradicated
D. disrupted

Question 47. A. maximum            B. utmost
        C. supreme
D. extremes

Question 48. A. dissolve                  B. interrogate
        C. respond
D. unravel

Question 49. A. dependent           B. reliant
        C. qualified
D. conditioned

Question 50. A. associated           B. contained
        C. involved
D. derived

Question 51. A. sound                 B. hear
        C. voice
D. perceive

Question 52. A. headline              B. heading
        C. headway
D. headship

Question 53. A. amiable               B. conceivable      C. evocative
D. conducive

Question 54. A. aggravated          B. teased
       C. persecuted
D. plagued

Question 55. A. far-away             B. outlying
       C. distant
D. imminent

II, Read the following passage and choose the best option for each questions below. (8pts)
                               The Atlantic Cod Fishery

Off the northeastern shore of North America, from the island of Newfoundland in Canada south to New England in the United States, there is a series of shallow areas called banks. Several large banks off Newfoundland are together called Grand Banks, huge shoals on the edge of the North American continental shelf, where the warm waters of the Gulf Stream meet the cold waters of the Labrador Current. As the currents brush each other, they stir up minerals from the ocean floor, providing nutrients for plankton and tiny shrimp-like creatures called krill, which feed on the plankton. Herring and other small fish rise to the surface to eat the krill. Groundfish, such as the Atlantic cod, live in the ocean’s bottom layer, congregating in the shallow waters where they prey on krill and small fish. This rich environment has produced cod by the millions and once had a greater density of cod than anywhere else on Earth.

Beginning in the eleventh century, boats from the  ports of northwestern Europe arrived to fish the Grand Banks. For the next eight centuries, the entire Newfoundland economy was based on Europeans arriving, catching fish for a few months in the summer, and then taking fish back to European markets. Cod laid out to dry on wooden “flakes” was a common sight in the fishing villages dotting the coast. Settlers in the region used to think the only sea creature worth talking about was cod, and in the local speech the word “fish” became synonymous with cod. Newfoundland’s national dish was a pudding whose main ingredient was cod.

By the nineteenth century, the Newfoundland fishery was largely controlled by merchants based in the capital at St.John’s. They marketed the catch supplied by the fishers working out of more than 600 villages around the long coastline. In return, the merchants provided fishing equipment, clothing, and all the food that could not be grown in the island’s thin, rocky soil. This system kept the fishers in a continuous state of debt and dependence on the merchants.

Until the twentieth century, fishers believed in the cod’s ability to replenish itself and thought that overfishing was impossible. However, Newfoundland’s cod fishery began to show signs of trouble during the 1930s, when cod failed to support the fishers and thousands were unemployed. The slump lasted for the next few decades. Then, when an international agreement in 1977 established the 200-mile offshore fishing limit, the Canadian government decided to build up the modern Grand Banks fleet and make fishing a viable economic base for Newfoundland again. All of Newfoundland’s seafood companies were merged into one conglomerate. By the 1980s, the conglomerate was prospering, and cod were commanding excellent prices in the market. Consequently, there was a significant increase in the number of fishers and fish-processing plant workers.

However, while the offshore fishery was prospering, the inshore fishermen found their catches dropping off. In 1922 the Canadian government responded by closing the Grand Banks to groundfishing. Newfoundland’s cod fishing and processing industries were shut down in a bid to let the vanishing stocks recover. The moratorium was extended in 1994, when all of the Atlantic cod fisheries in Canada were closed, except for one in Nova Scotia, and strict quotas were placed on other species of groundfish. Canada’s cod fishing industry collapsed, and around 40,000 fishers and other industry workers were put out of work.

Atlantic cod stocks had once been so plentiful that early explorers joked about walking on the backs of teeming fish. By 2008, cod stocks were still a historically low levels and showed no signs of imminent recovery, even after drastic conservation measures and severely limited fishing. Some fishermen blamed the disminished stocks on seals, which prey on cod and other species, but scientists believe that decades of overfishing are to blame. There have been occasional signs of hope. For example, studies on fish populations show that cod disappeared from Newfoundland at the same time that stocks started rebuilding in Norway, raising the possibility that the cod had simply migrated to a different region. Still, in the early twenty-first century, it remains uncertain whether or when the cod will return to Grand Banks or the moratorium will end.

Question 56. The word shoals in paragraph 1 is closest in meaning to

A. Shallow                            B. currents                            C. mountains                       D. islands

Question 57. What physical process occurs in the region of the Grand Banks?

A. Underwater hot springs heat the water.              

B. Nutrient-rich water flows in from rivers.    
C. Warm and cold currents come together.        
D.  Tides transport plankton and small fish

Question 58. Which sentence below best expresses the essential information in the highlighted sentence in paragraph 1? Incorrect choices change the meaning in important ways or leave out essential information.

A. Millions of cod come to the Grand Banks every year to feed on the abundant supplies of herring and other small fish.

B. The Grand Banks used to have the world’s largest concentration of cod because of favorable natural conditions.

C. The Grand Banks is the only place on Earth where cod are known to come together in extremely large groups.

D. The environmental resources of the Grand Banks have made many people wealthy from cod fishing.

Question 59. Why does the author mention Newfoundland’s national dish in paragraph 2?
A. To encourage the development of tourism in Newfoundland

B. To describe the daily life of people in Newfoundland

C. To stress the economic and cultural significance of cod

D. To show that Newfoundland used to be a separate country

Question 60 . All of the following statements characterized Newfoundland’s cod fishery in the past EXCEPT:

A. Fishers were dependent on merchants in the capital.

B. Cod were the foundation of the island’s economy.

C. Fishers competed with farmers for natural resources.

D. Cod were placed on wooden “flakes” for drying.

Question 61. What event first signaled the overfishing of the Atlantic cod?

A. The failure of cod to support thousands of fishers in the 1930s

B. The merging of seafood companies into one huge conglomerate

C. An increase in the number of fishers and fish-processing plants

D. The government moratorium on cod fishing during the 1990s

Question 62. Why did the Canadian government decide to build up the Grand Banks fishing fleet?

A. The 200-mile limit was seen as an economic opportunity.

B. There had not been enough boats to handle all the fish.

C. The shipbuilding sector of the economy was in a slump.

D. Canada faced stiff competition from other fishing nations.

Question 63. It can be inferred from paragraph 6 that the author most likely believes which of the following about the future of the Atlantic cod fishery?

A. The fishery will improve if the government lifts the fishing ban.

B. It may be a long time before cod stocks recover from overfishing.

C. The center of the Atlantic cod fishery will shift to Norway.

D. The cod will return to the Grand Banks if seal hunting is allowed.

III, Read the following passage and mark the letter (A, B, C or D) on your answer sheet to indicate the correct answer to each for the questions. (7pts)
ACID DUST

    “ Calcite- containing dust particles blow into the air and combine with nitric acid in polluted air from factories to form an entirely new particle – calcium nitrate , ” said Alexander Laskin, a senior research scientist at the Department of Energy’s Pacific Northwest National Laboratory in Richland, Washington .These nitrates have optical and chemical properties that are completely different from those of the originally dry dust particles . Due to this, climate models need to be updated to reflect this chemistry. Calcite dust is common in arid areas such as Israel, where scientists collected particles for analysis.

        Working from a mountaintop, the team collected dust that had blown in from the northern shores of Egypt, Sinai,and southern Israel. The particles had combined with air containing pollutants that came from Cairo.They analyzed nearly 2,00 individual particles and observed the physical and chemical changes at the W.R Wiley Environmental Sciences Laboratory.

    A key change in the properties of the newly formed nitrate particles is that they begin to absorb water and retain the moisture .These wet particles can scatter and absorb sunlight- presenting climate modelers, who need to know where the energy is going , a new wild card to deal with . Companion studies of dust samples from the Sahara and the Saudi coast and loess from China show that the higher the calcium in the mineral , the more reactive they are in with nitric acid .And once the particle is changed , it stays that way.“When dust storms kick up these particles and they enter polluted areas , the particles change ,” Laskin said . “To what extent this is happening globally, as more of the world becomes industrialized , we don’t know . But now we have the laboratory and field evidence that shows it is definitely happening . The story is much more complicated than anybody thought .”

Question 64 : What is the main idea of the passage ?

   A.There is a new particle called calcium nitrate                    

   B. Factories are polluting the environment

   C. Climate models have to be updated because of the new particle calcium nitrate.

   D. Calcium nitrate has chemical properties different from other dust particles.

Question 65: Why do climate models need to be updated to reflect the chemistry of calcium nitrate ?

    A. The new particles can absorb water and retain moisture.

    B. The new particles can scatter and absorb sunlight.

     C. To stop acid dust.

     D. Both A and B.

Question 66: Which of the following may be true ?

     A. The change of an ice age is increased.
B. We may see more rainbows.

    C. The greenhouse effects are increased
D. Calcite dust is common in arid areas.

Question 67: Why does the passage begin with a description of the properties of calcium nitrate?

     A.To give background information so the reader can understand the topic better.

     B. Because calcium nitrate is the main idea.

     C. They show how elements combine to create calcium nitrate .

     D. To prove the existence of calcium nitrate

Question 68: The word “those ” in paragraph 1 refers to 
.

    A. Nitrates
            B. Properties
             C. Particles
             D. Models

Question 6 9: It can be inferred that the word “retain ” in paragraph 3 is closest in meaning to____ 
.

   A. hold
                 B. lose
            C. increase
                  D. need

Question 70: In the third paragraph , what does the term “ wild card ” mean ?

    A.An unknown card in a card game.               B. An unknown item in the scientists’ calculations

    C. A large amount of acid dust.                       D. A,B and C are incorrect .

SECTION E : WRITING .

 I,  Rewrite the following sentences in such a way that it means exactly the same as the sentences printed before it. 

Question 71. Maria shouldn’t  have many problems with the administrative side of the job.

( It’s unlikely ________________________________________________________.

Question 72. In a nutshell, Joseph’s not up to the job.

( The long __________________________________________________________.

Question 73. Standing as tall as he could, he passionately denied any involvement in the affair.

( Drawing __________________________________________________________.

Question 74. We would be extremely grateful if you could reply as soon as possible.

( A prompt__________________________________________________________.

Question 75 . I found the plot of the book too complicated to follow.  

( I  can’t make  ____________________________________________________      .

II,   For each of the sentence below, write a new sentence as similar as possible in meaning to the original sentence but using the word given. This word must not be altered in any way. (5pts.)

Question 76. This kitchen table is also the desk where I work. 




DOUBLES

(___________________________________________________________.

Question 77. You can’t just suddenly decide to go on a safari. You need to plan things very carefully. SPUR
(___________________________________________________________.

Question 78. Nobody really expected Glen to do so well in his Biology exams. 


TAKEN
(___________________________________________________________.

Question 79. You can’t expect everything to run on an even keel all the time. 


SMOOTH

(___________________________________________________________.

Question 80. The public were up in arms over the proposed change to privacy law. 

OUTCRY

(___________________________________________________________.
III: ESSAY WRITING . (20pts.)

Do you agree or disagree with the following statement? 

           The most important aspect of a job is the money a person earns. 

In about 200 words, write a composition expressing your point of view. Give reasons for your answer.
                                         …………The End………
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